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(1) [x"dx = . +C,n # -1
n

(2) [sinkx dx :—Coj{kx +C

sin kx

(3) [coskx dx = +C

(4) J'seczx dx =tanx +C

(5) J'csczx dx =—cotx +C

(6) [secx tanx dx =secx +C

(7) J’cscx cotx dx =—cscx +C

®) [(f (x)2g(x)) dx = [f (x)dx £ [g(x)dx
9) [kf (x) dx =k [f (x) dx

(10) [~ (x) dx =~[f (x) dx

d’y dy dy
dx =—+C ,(A2)[— dx =y +C
dx * dx ( )-[dx Y
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(13)-[ xldx :ln‘x‘+C,x £ 0

f(x)
14) [ f(j:) dx =In| f (x)[+C

(15) I e‘dx =e* +C
(16) I f'(x) e Wdx =/ +C
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Sin “x+ Cos “=1 Secu+ tanu
Secu=secu X S
ecu+ tanu
Si 1- Cos2x
m X = ) Sec>u+ secu.tanu
Secu+ tanu
5 1+Cos2x
Cos “x =
= > (21)I sec x dx =ln‘secx +tanx‘+C
2 2
cscu=cscu X "
cscu- cotu
cot’x=csc’-1
2
t sin x _ ¢SsC “u-cscu.cotu
anx = —— =
COS X ¢scu- cotu
COS X
cotx = —— (23)I csc x dx =ln‘cscx —cotx‘+C
sin X




